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Q1

(@

(b)

©

(d)

Define hedging principle or rule of self-liquidating debt.
(2 marks)

DeeGee Sdn. Bhd. is evaluating options for financing its seasonal working-
capital needs. A short-term loan from Prudential Bank would carry a 14% annual
interest rate, with interest paid in advance (discounted). If this option is chosen,
DeeGee’s would also have to maintain a minimum demand deposit equal to 10
percent of the loan balance, throughout the term of the loan. DeeGee’s needs to
borrow RM255,000 for the upcoming three months before Christmas. On the
other hand, the company would also like to exploit a production opportunity
overseas, and is seeking additional capital to finance this expansion. The
company plans a commercial paper issue of RM20 million. The firm has never
issued commercial paper before, but has been assured by the investment banker
placing the issue that it will have no difficulty raising the funds, and that this
method of financing is the least expensive option, even after the RM200,000
placement fee. The issue will carry a 270-day maturity and will require interest
based on an annual rate of 12%.

(i) Determine the effective cost of the loan to DeeGee.

(4 marks)
(i)  Calculate the effective cost of the commercial paper issue to DeeGee.

(4 marks)
Differentiate between business and financial risks.

(4 marks)

You are trying to evaluate the capital structure of a company with the following
information on the company’s common stock, preferred stock and bond. The
company capital structure consists of 35% common stocks, 20% common stocks
and 45% of bond.

A new common stock issue paid a RM1.25 dividend last year. The par value of
the stock is RM2, and the earnings per share have grown at a rate of 6% per year.
This growth rate is expected to continue into the foreseeable future. The
company maintains a constant dividend/earnings ratio of 40%. The price of this
stock is now RM30, but 9% flotation costs are anticipated.

Company’s preferred stock paying a 7% dividend on a RM125 par value. If a
new issue is offered, the company can expect to net RM90 per share.

A bond that has a RM1,000 par value (face value) and a coupon interest rate of
13%. A new issue would net the company 90% of the RM1,125 market value.
The bonds mature in 20 years, and the firm’s average tax rate is 30% and its
marginal tax rate is 34%.
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Q2

(2)

(b)

(©)

(d

Compute the followings:

6) Cost of new common stocks.

(3 marks)
(i)  Cost of preferred stocks.

(2 marks)
(iii)  After-tax Cost of Debt.

(4 marks)
(iv)  Weighted Average Cost of Capital.

(2 marks)
Differentiate between debentures and mortgage bonds.

(4 marks)

You are evaluating a 14-year, RM1,000 par value bonds that pay 9% interest
annually. The market price of the bonds is currently RM1,100 and your required
rate of return is 10%.

(1) Compute the bonds expected rate of return.

(4 marks)
(i)  Determine the value of the bond to you, given you required rate of return.

(4 marks)
(iii)  Determine whether the bond is worth an investment.

(2 marks)
List THREE (3) features of common stock.

(3 marks)

You are analyzing two equity investment alternatives. The first investment that
you are analyzing is a preferred stock (RM100 par value) that sells for RM80
and pays an annual dividend of RM12. Your required rate of return for this stock
is 14 percent. The second alternative is a common stock (RM35 par value) that
recently paid a RM3 dividend. The firm’s earnings per share have increased from
RM4 to RM8 in 10 years, which also reflects the expected growth in dividends
per share for the indefinite future. The stock is selling for RM25, and you think
a reasonable required rate of return for the stock is 20 percent.

@) Calculate the value of the preferred stock.
(3 marks)

(ii)  Determine the value of the common stock.
(5 marks)
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Mr. T is asked to analyze the following three projects as shown in Table Q3.
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Table Q3: Mr. T’s projects’ forecast cash flows

. Cash Flow (RM)
Eruject Year 0 Year1 Year 2 Year3 Year 4 Year 5
A (2,000) 200 200 200 200 200
B (2,000) 527.60 527.60 527.60 527.60 527.60
C (2,000) 0 0 0 0 3,500

(a) Compute:

(1) The Net Present Value (NPV) of each of the three projects, assuming the
discount rate is 10%.

(5 marks)
(i)  The Internal Rate of Return (IRR) for the three projects.

(6 marks)
(iii)  The NPV of each project assuming the discount rate is 6%.

(5 marks)
(iv)  The NPV of each project assuming the discount rate is 15%.

(5 marks)

(b)  Rank each project based on their NPVs and IRRs should the discount rate is:

() 10%
(i) 6%
(i)  15%
(3 marks)
(c) Determine which project should be recommended by Mr. T.
(1 mark)
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Q4

(@)

(b)

©

@) Explain factors that influence firms to expand their operations
internationally.
(8 marks)

(i)  Describe TWO (2) risks associated with international expansion.
(9 marks)

6] Mr. Smith from the USA has RM2,250 with him. He wants to convert all
of the RM money back to US dollar. Assume the exchange rate today
between RM and US Dollars is 1USD = RM4.5.

Compute the amount of US Dollars that Mr. Smith will get after the RM
is converted back to the US Dollars using the present exchange rate.
(2 marks)

(ii)  En. Ahmad needs US Dollars 6,500 for his vacation in the USA next
month. Assume the exchange rate today is 1US Dollar = RM3.50.

Compute the amount of RM he should spend to obtain US Dollars 6,500.
(2 marks)

Assume that Malaysian financial assets (shares, bonds, sukuk) provide a lower
return compared to financial assets in the UK. Malaysian investors who observe
the situation will be attracted to the higher returns of the UK financial assets.
Ultimately, Malaysian investors will start to move their funds into the UK
market.

Explain the effect of the above phenomenon on:

1) Malaysian demand for US Dollar.
(2 marks)

(ii)  The equilibrium exchange rate between RM and US Dollar.
(2 marks)

-END OF QUESTIONS-
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*FVa= AMT (1+i)" or AMT (FVIFi»)
*You may use this formula to find growth rate (g) as well i.e. finding i.
PV=AMT (1+i)" or AMT (PVIFi»}

FVA= AMT (FVIFA4i»)

_A+)" -1
i

FVIFA,,

PVA= AMT (PVIFAi»)

PyIF4, =+=C*D

1

NPV =Y i
A+k)

=1

i FCE,
PI = =1 (1 + A‘)t
10
IRR = IRR; +[: %} X (IRRz —IRRJﬂ

V, =$1,(PVIF4,,)+SM(PVIF,,)

n $7 $M

b=z - t+ n
= (A+k) (A+ky)
D

V, =—

P kps

V.= 2

V, = +
< (A+k,) (A+k,)

& Par— NetPrice

*kd ] n
Par+ NetPrice

2
* Bondholder’s Expected Rate of Return

Preferred Stockholder’s Expected Return
=D/MP
= Annual dividend/market price

Common Stockholder’s Expected Return

= Dividend yield + Dividend growth rate

=Di1/MP) +¢g

= (Dividend in year 1/market price)+Dividend growth rate

After-tax cost of debt = k, (1 —=T')

D
Kee=2p
Fo=2iig
F,
D
k =—"+
w=Np 8

kmcc = “’dkd (1 i Tc) + “’pskps + “‘nakm:s
ki =ky + Bilky —ky)

k= ikiP(’ki)

o= >k -5 PR,

APR=  Interest or Interest x_ 1

Principle x Time Principle Time
i | m
APY = 1+ =
m - 1
.

‘? \Uv ‘-‘{}:A
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